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»  The set of real numbers consist of a//numbers on the number line. If it were possible to place a
point on the number line for each real number, the line would be completely filled in and extend
forever in the negative and in the positive directions.

>  Aswe discussed yesterday, the set of real numbers is made up of two major subsets (smaller
groups), called rational and irrational numbers.
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| Qperations with Rational and Irrational Numbers™*
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Surns and Products of Rational and Irrational Numbers

» Addition of two rational numbers will result in a sum thatis a (*Od”l a4} | N TEL

Examples:

3+8= 5 | 29+148= 7.7
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2.1+1.2=3,L9§{ -§+12= .85



P Multiplication of two rational numbers will result in a product thatis a

Examples:
~3x8= - 29x148= U2 .92
1.3 N - | e
$%7% JOBS M. ' 35 —gx12= -5
Z.Z_}xl.zzcg‘qg'- —4x16= - b
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>  Addition of a rational and an irrational number will result in an _{y rat th)ak Nnumier.
Examples:
24V5 = 4. 2R 0o v o 3tm= 5 4159, .
VITH0= U 1273,.. V3+v9= Y4 73205.--

»  Multiplication of a non-zero rational and an irrational number will result in an
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Examples:

2(\/5): L)LLL\ja'L“ : ““4'2\/§= '\308510"‘\*0:

100-'” = 5\\\' As4...

»  The sum or broduct of two irrational numbers may be rabnal er wyatiownad .
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Examples:
VTS + (VT5) = ~|55 C EaVI= 8,17,

VT T= " V5(v3)= 2,87 99...



